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MONTHLY TEST, OCTOBER 2024

Class: XII Marks: 25
ENGLISH Time 45 min
I. Answer all the questions 10x1=10

A) Pick out and write to correct synonym from the options given

1) Our father rejected it saying it wouldn't be sturdy

a) Weak b) Strong c) Tall d) Good
2. Till now in our village they always seated the corpse only on the floor
a) Alive b) disabled ¢) wounded d) dead

B) Pick out and write the correct antonym from the options given

3. The anticipation of this imagined separation only increase fondness for the calf
a) Expectancy b) contemplation c) outlook d) ignorance

4. There he was sitting in splendor on his chain
a) Magnificence  b) pomp c) effulgence d) simplicity

5. Identify the correct compound element of the compound word “Grandmother”

a) Adjective + nounb) Noun + Noun c) Adverb + Noun d) Verb + Noun
6. Identify the correct compound word for the compound element Noun + Gerund

a) Headmaster b) Waterfall ¢) Swimming pool d) Public speaking
7. Choose the right blended word for the words Splash + sputter

a) Sput b) Sputter c) spluttered d) Shutter
8. Choose the right combination for the blended word “Mechatronics”

a) Mech + tronics  b) Machine + Electronics ¢) Mechanics + Electronics d) Mechanics +
Electrics

9. Replace the undefined word with euphemistic form

i) Retired old person is asked to submit his life certificate within this month in the treasury

a) Old People b) Senior Citizen c) Aged citizen d) Unabled Person
ii) Subsidies are given to the poor
a) Under Privileged b) over privileged c) privileged d) Unprivileged
Il. Do as directed 2x2=4

10. Teaching is nobler than many other professions (Change into superlative degree)

11. Hurricanes are as dangerous as tornadoes (Change into Comparative Degree)

lll. Answer any two of the following questions in about 30 words each 2x3=6
12. Why were the two chains compared to Rama — Lakshmana?
13. When did the children get over the fear of sitting on the chair?
14. Why did maamanar hand over the chair to the villagers to retain it?

IV. Answer the following in a paragraph of about 100 to 150 words 1x5=5
15. How according to the poet is it possible for his son to bring changes into a world that resent
change?
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